0002030729697999

& o0 ERERNAY 06—0—>

2015 F Hehf 1T % 1 [

L | #0910 {an} 250385 l0g,3, 2% — - logy3 — 5 OHEBGILTE. DL

mal 519
(1) ap = logy3 — ===, anu=—|#
T T

5
(2) BH {b,} %

by=2" (n=1, 2, 3, )

2 4 /76
rEndE, ThixmE [ A [ F | a |, A Y= DRI S

(3) BHl {a,} EZHDdnEYkizfali s, anb’ﬁ&&%ﬁx'ﬁﬂ@nii m Tdhd.
8
(M Qo= 5%323 +q (-E"ﬂogz 3 - ‘é’)

]

Thg23- 4

r

At = 5’}0923*'!0(“';“20323'%')
= -5

b L4

@) On= 590323+(n-f)-(—2ig,,323— -7{-)

]

S _ h-i
_-.__._‘0,0323 =
n L _h-t J6 \h {5 \n~1
“ bn= 2ﬁ =3 2 - 2 :‘35'.6 2 :35.4,6-(T) :3';.(.__)

. #nIB 243, 4Lre

(3) @q= 29»323 -3
= Qogzq -,0032'3
>0

Gs= Zhoga3- 4

= 2 (g2 27 log, 2")




